## BOOKS PURCHASED DEPARTMENT OF MATHEMATICS (2018-2019)

SI No.	TITLES	AUTHOR	COPIES		PRICE	AMOUNT
1	Introduction to Calculus and Analysis 23451 — 53	R. Courant	3	€	54.99	13709.01
2	Basic Topology & 3 4 3 5	M.A. Armstrong	1	€	48.95	4067.75
3	Basic Algebra Vol. 1 23433-34	N. Jacobson	2	\$	22.95	3139.56
4	Real And Complex Analysis 23 イチンーチ4	W. Rudin	3	Rs	725.00	2175.00
5	Combinatorics and Commutative Algebra 23454	R. Stanley	1	€	59.99	4985.17
6	Abstract Algebra: Structures and Applications $\mathcal Q \mathrel{\it 3} \mathrel{\it 4SF}$	S. Lovett	1	£	70.99	6616,27
1	Real Mathematical Analysis 2nd Ed. ・ よろと 8象	C.C. Pugh	1	€	44.99	3738.67
8	Stability, Instability and Chaos: An Introduction to the Theory of Nonlinear Differential Equations	G. Paul	1	\$	98.00	6703.20
	Experiments in Topology 23466-67 23464	S. Barr	2-	\$	12.95	1771.56
	Introduction to Topology 23470	B. Mendelson	1	\$	14.95	1022.58
11	Topology 23468-69	K. Jänich	2	€	44.99	7477.34
	9		18			
-1	GST EXEMPTED ON					
	"PRINTED BOOKS"					
	Under Section 23 of GST Act 2017 Chapter 49, HSN Code 4901					
	Chaptor 101					
		agencie				
	(RUPEES FOURTY NINE THOUSAND EIGHT HUNDRED SIXTY FIVE ONLY)	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1				
£ = Rs. 93.20, \$ = Rs. 68.40, € = Rs. 83.10		S	UB TOTAL	55406.10		

## BOOKS PURCHASED FOR DEPARTMENTAL LIBRARY DEPARTMENT OF MATHEMATICS (2018-2019)

SI No.	TITLES	AUTHOR	COPIES		PRICE	AMOUNT
	6					
A		D.S. Dummit	2	Rs	819.00	1638.00
2	Probability and Measure 3rd Ed. 23433	P. Billingsley	1	Rs	949.00	949.00
		K.R. Parthasarathy	2	Rs	450.00	900.00
		S. Ross	1	Rs	769.00	769.00
<b>×</b> 5		W. Feller	5.	Rs	689.00	3445.00
		W. Rudin	4.	Rs	765.00	3060.00
7		G.B.Folland	1	\$	190.00	12996.00
		G.F. Simmons	5	Rs	725.00	3625.00
189		D.J.S. Robinson	2.	Rs	400.00	800.00
		M. Artin	4.	Rs	479.00	1916.00
711		M. Vujicic	2	€	65.41	10871.14
		J.H. Hubbard	1	€	74.99	6231.67
		J. Harris	1	€.	59.99	4985.17
<del>×14</del>	Mastering Technical Mathematics	N.H. Crowhurst	1	\$ 4	49.95	3416.58
			32			
			METERS.	22-19		
	GST EXEMPTED ON					
	"PRINTED BOOKS"					
	Under Section 23 of GST Act 2017 Chapter 49, HSN Code 4901					
	Onaptor 40, mon occorre					
		ok Agen				
	(RUPEES FIFTY THOUSAND ONLY)	CA CAN				
£ = Rs. 93.20, \$ = Rs. 68.40, € = Rs. 83.10		( ) ( ) ( ) ( )		S	UB TOTAL	55602.56